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ઉમેદવાર ેનીચેની સૂચનાઓનંુ પાલન કરવાની તકેદારી રાખવી, અլયથા વાંધા-સૂચન અંગ ેકરલે રજૂઆતો իયાને
લેવાશે નહી ં
(1) ઉમેદવાર ેવાધંા-સચૂનો િનયત કરવામા ંઆવેલ વાંધા-સૂચન પԋકથી રજૂ કરવાના રહેશે. 
(2) ઉમેદવાર ેԐՇԐમાણે વાધંા-સચૂનો રજૂ કરવા વબેસાઈટ પર Ԑિસիધ થયેલ િનયત વાધંા-સચૂન પԋકના નમૂનાનો જ

ઉપયોગ કરવો.

(3) ઉમેદવાર ેપોતાને પરીԟામાં મળેલ ԐՇપિુչતકામા ંછપાયેલ ԐՇԃમાંક મુજબ વાંધા-સૂચનો રજૂ ન કરતા તમામ વાંધા-

સૂચનો વબેસાઈટ પર Ԑિસիધ થયેલ Ԑોિવઝનલ આլસર કી (માչટર ԐՇપԋ)ના ԐՇ ԃમાંક મુજબ અન ેત ેસંદભӪમાં

રજૂ કરવા. 

(4) માչટર ԐՇપԋ મા ંિનિદӪ Ջ ԐՇ અને િવકճપ િસવાયના વાંધા-સચૂન իયાન ેલેવામાં આવશ ેનહી.ં 

(5) ઉમેદવાર ેજ ેԐՇના િવકճપ પર વાંધો રજૂ કરલે છે અને િવકճપ ԁપ ેજ ેજવાબ સચૂવેલ છે એ જવાબ ઉમેદવાર ેપોતાની

ઉԱરવહીમા ંઆપેલ હોવો જોઈએ. ઉમેદવાર ેસચૂવલે જવાબ અને ઉԱરવહીનો જવાબ િભՂ હશ ેતો ઉમેદવાર ેરજૂ

કરલે વાંધા-સચૂન իયાનમા ંલેવાશ ેનહી.ં  આ હેત ુમાટે, ઉમેદવાર ેપોતાની અરӾ(ઓ) સાથ ેપોતાની જવાબવહીની 

એક નકલનુ ંિબડાણ કરવાનું રહેશે. 

(6) એક ԐՇ માટે એક જ વાંધા-સચૂન પԋક વાપરવું. એક જ વાંધા-સૂચન પԋકમા ંએકથી વધાર ેԐՇોની રજૂઆત કરલે

હશે તો ત ેઅંગેના વાધંા-સચૂનો իયાન ેલેવાશ ેનહી.ં 
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001. Lke[uLkk rðfÕÃkku{ktÚke ÞkuøÞ rðfÕÃk ÃkMktË fhku.

1. økwshkík{kt WLkk¤k{kt íkkÃk{kLkLkku økk¤ku ËrhÞk rfLkkhkLkk «Ëuþku{kt ykuAku yLku ytËhLkk ¼køkku{kt ðÄw hnu Au.

2. {u {rnLkk{kt økwshkíkLkk W¥kh ¼køk{kt Lke[k{kt Lke[wt Ëçkký yLku Mkkihk»xÙLkk Ërûký rfLkkhu Ÿ[k{kt Ÿ[w Ëçkký
nkuÞ Au.

(A) rðÄkLk (1) Mkk[wt yLku (2) ¾kuxwt Au. (B) rðÄkLk (1) ¾kuxwt yLku (2) Mkk[wt Au.

(C) çktLku rðÄkLkku Mkk[kt Au. (D) çktLku rðÄkLkku ¾kuxkt Au.

002. økwshkíkLkk fÞk ykrËðkMkeykuLku ðLk rð¼køk îkhk ðktMk{ktÚke [esðMíkwyku çkLkkððk {kxu ðktMk Ãkqhku Ãkkzðk{kt ykðu Au ?

(A) fkuxðkr¤Þk (B) zwtøkhe ¼e÷

(C) çkkð[k (D) Ëqçk¤k

003. ¼khíkLkk fÞk hkßÞ{kt yLkwMkqr[ík òríkLke ðMíke LkkUÄkÞu÷ LkÚke ?

(A) rMkr¬{ (B) yYýk[÷ «Ëuþ

(C) økkuðk (D) Lkkøkk÷uLz

004. (f) íkÚkk (¾) Lkk rðfÕÃkku òuzeLku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

 (f) (¾)

I. rðËuþe økkÞku {kxuLkwt ÃkþwMktðÄoLk Vk{o 1. Äk{hkuË

II. Mkqhíke ¼UMkku {kxuLkwt ¼UMk MktðÄoLk Vk{o 2. çkezs

III. òVhkçkkËe ¼UMkku {kxuLkwt ¼UMk MktðÄoLk Vk{o 3. ykýtË

IV. Ãkkzk - MkktZ {kxuLkwt MktðÄoLk Vk{o 4. økktÄeLkøkh
(A) I - 3, II - 1, III - 4, IV - 2 (B) I - 3, II - 1, III - 2, IV - 4
(C) I - 1, II - 3, III - 2, IV - 4 (D) I - 2, II - 1, III - 3, IV - 4

005. ¼khíkLkk fÞk hkßÞ{kt ÚkkuheÞ{Lkku MkkiÚke ðÄw sÚÚkku ykðu÷ku Au ?

(A) íkkr{÷Lkkzw (B) fuhk÷k

(C) hksMÚkkLk (D) yktÄú«Ëuþ

006. ¼khíkLkku MkkiÚke {kuxku Úk{o÷ Ãkkðh Ã÷kLx Lke[uLkk Ãkife fÞku Au ?

(A) {wtÿk Úk{o÷ Ãkkðh Ã÷kLx (B) íkk÷[h MkwÃkh Úk{o÷ Ãkkðh MxuþLk

(C) ®ðæÞk[÷ Úk{o÷ Ãkkðh MxuþLk (D) rhnkLË Úk{o÷ Ãkkðh MxuþLk

007. Äe MkuLxÙ÷ EÂLMxxâwx ykuV £uþðkuxh yufðkfÕ[h (CIFA) õÞkt ykðu÷ Au ?

(A) ¼wðLkuïh (B) f÷f¥kk

(C) {wtçkE (D) fku[eLk

008. LkkuÚko EMxLko hu÷ðuLkwt ðzwt {Úkf (Head Quarters) õÞkt ykðu÷wt Au ?

(A) økkiníke (B) økkuh¾Ãkwh

(C) f÷f¥kk (D) yÕnkçkkË

009. ¼khík yLku ríkçkuxLku òuzíkku {wÏÞ {køko fu su fk÷e{ÃkkUøk yLku ÕnkMkk Lku òuzu Au íku Lke[uLkk Ãkife fÞk{ktÚke ÃkMkkh ÚkkÞ Au ?

(A) su÷uÃk ÷k (Jelep La) (B) ÍkuS÷k (Zogila)

(C) þeÃkfe ÷k (Shipki La) (D) Úkkøkk ÷k (Thaga La)
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010. ¼khík{kt ÃkkuMx÷ ELzuûk Lktçkh (PIN) þYykík fÞk ð»ko{kt ÚkE níke ?

(A) E. Mk. 1975 (B) E. Mk. 1980

(C) E. Mk. 1981 (D) E. Mk. 1972

011. ¼khíkLke Ãkrù{ çkksw Lke[uLkk Ãkife fÞk çktËhku ykðu÷ Au ?

1. {k{koøkkuðk      2. {Uøk÷kuh      3. fku[e      4. su.yuLk.Ãke.xe.

(A) 1, 2 yLku 4 (B) 1, 2 yLku 3

(C) 1, 2, 3 yLku 4 (D) 2, 3 yLku 4

012. ¼khíkLkk fÞk hkßÞ{kt yLkwMkqr[ík sLkòríkLke ðMíke MkkiÚke ðÄw Au ?

(A) {æÞ«Ëuþ (B) ykurhMMkk

(C) {nkhk»xÙ (D) hksMÚkkLk

013. Lke[uLkk MÚk¤ku Ãkife fÞk MÚk¤ku rðï ðkhMkkLkk MÚk¤ku íkhefu ÞwLkeMkuV îkhk ònuh ÚkÞu÷k Au ?

1. ystxkLke økwVkyku      2. AºkÃkrík rþðkS x{eoLkMk      3. fkuýkfo MkqÞo{trËh      4. ÷k÷ rfÕ÷ku, rËÕne

(A) 1, 2 yLku 3 (B) 1, 3 yLku 4

(C) 2, 3 yLku 4 (D) 1, 2, 3 yLku 4

014. Þkr{Lke f]»ý{qŠík fÞk þkMºkeÞ Lk]íÞ MkkÚku Mktf¤kÞu÷k Au ?

(A) fÚkf (B) ¼hík Lkkxâ{

(C) {rýÃkwhe (D) fÚkf÷e

015. Lke[uLkk Ãkife fÞk ðkã MkkÚku Þw. fu. rþðh{ý Mkt÷øLk Au ?

(A) ðkÞkur÷Lk (B) Yÿðeýk

(C) {]Ëtøk{ (D) {uLzkur÷Lk

016. Mktøkeík f÷krLkÄe yuðkuzo Lke[uLkk Ãkife fÞk f÷kfkhLku {¤u÷ Au ?

(A) yu. fLÞkfw{khe (B) yu.fu.Mke. LkxhksLk

(C) MkwÄk h½wLkkÚkLk (D) WÃkhLkk çkÄks

017. ®MkÄw ¾eý MktMf]ríkLkk MÚk¤ku yLku hkßÞLku òuzeLku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

 MÚk¤ku hkßÞku

I. Mkwhfkuxzk 1. Ãktòçk

II. hkuÃkh 2. hksMÚkkLk

III. hk¾eøkZ yLku çkLkðk÷e 3. økwshkík

IV. fk÷eçktøkLk 4. nrhÞkýk

(A) I - 1, II - 2, III - 3, IV - 4 (B) I - 3, II - 1, III - 2, IV - 4

(C) I - 3, II - 1, III - 4, IV - 2 (D) I - 1, II - 3, III - 4, IV - 2
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018. Lke[uLkk Ãkife fÞk rðÄkLk/rðÄkLkku Mkk[kt Au ?

1. f÷{fkhe r[ºkf÷kLkku WËT¼ð yktÄú«Ëuþ{ktÚke ÚkÞu÷ Au.

2. VkË (Phad) r[ºkf÷kLkku WËT¼ð hksMÚkkLk{ktÚke ÚkÞu÷ Au.

3. ðkuh÷e r[ºkf÷kLkku WËT¼ð rçknkh{ktÚke ÚkÞu÷ Au.

(A) rðÄkLk (1) yLku (2) Mkk[kt Au. (B) rðÄkLk (1) yLku (3) Mkk[kt Au.

(C) rðÄkLk (1), (2) yLku (3) Mkk[kt Au. (D) rðÄkLk (2) yLku (3) Mkk[kt Au.

019. økwshkík{kt íkktøk÷eÞk (Tangalia) ðMºk fE fku{Lke çknuLkku Ãknuhu Au ?

(A) ykrnh (B) hçkkhe

(C) fwt¼kh (D) ¼hðkz

020. ykMkku {kMkLke ÃkqLk{Lkk rËðMku {kýufXkhe ÃkqLk{Lkku {u¤ku õÞkt ¼hkÞ Au ?

(A) zkfkuh (B) þk{¤kS

(C) îkhfk (D) ò{Lkøkh

021. økwshkíke Mkki«Úk{ htøkeLk rVÕ{ Lke[uLkk Ãkife fE níke ?

(A) Lkh®Mkn {nuíkk (B) ftfw

(C) MkkuLkçkkELke [wtËze (D) ÷e÷wze Ähíke

022. “ykøktíkwf” yLku “ðktMkLkku ytfwh” f]ríkyku Lke[uLkk Ãkife fÞk MkkrníÞfkhLke Au ?

(A) ð»kko yzk÷ò (B) ÄeYçkuLk Ãkxu÷

(C) h½wðeh [kiÄhe (D) ðeLkuþ ytíkkýe

023. Lke[u Ëþkoðu÷ MktMÚkkyku Ãkife fE MktMÚkkLke MÚkkÃkLkk Mkki Ãknu÷kt ÚkE níke ?

(A) økwshkík MkkrníÞ Mk¼k

(B) økwshkíke MkkrníÞ Ãkrh»kË

(C) økwshkík ðLkkoõÞw÷h MkkuMkkÞxe (økwshkík rðãkMk¼k)

(D) økwshkík MkkrníÞ yfkË{e

024. økwshkík{kt ELzku÷kursf÷ rhMk[o EÂLMxxâqx õÞkt ykðu÷ Au ?

(A) y{ËkðkË (B) Ãkkxý

(C) ðzkuËhk (D) Ëuð¼qr{ îkhfk

025. [kuÚke çkkiØ Mk¼kLkwt ykÞkusLk fÞk MÚk¤u fhðk{kt ykðu÷ níkwt ?

(A) fkÂ~{h (B) Ãkkx÷eÃkwºk

(C) ðiþk÷e (D) MkÃíkÃkýeo

026. ÿrðz fw¤Lke ¼k»kk{kt .......... MkkiÚke «k[eLk ¼k»kk Au.

(A) íku÷wøkw (B) íkr{÷

(C) fLLkz (D) {÷Þk÷{
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027. fÞk økðLkoh sLkh÷Lkk Mk{Þ{kt ºkeòu {iMkwh rðøkún ÚkÞku níkku ?

(A) Mkh ßnkuLk Mkkuh (B) ðu÷uM÷e

(C) fkuLkoðkur÷Mk (D) ðkuhLk nu®MxøMk

028. y{ËkðkË{kt hkÞÃkwh Ëhðkò çknkh ðkEMkhkuÞ r{Lxku WÃkh çkkuBçk Lkk¾ðkLkku çkLkkð fÞk ð»ko{kt çkLÞku níkku ?

(A) E. Mk. 1902 (B) E. Mk. 1905

(C) E. Mk. 1907 (D) E. Mk. 1909

029. Lke[uLkk Ãkife rðfÕÃkku{ktÚke Mkk[kt rðfÕÃk ÃkMktË fhku.

1. økkuðk, Ëeð yLku Ë{ý{ktÚke ÃkkuxwoøkeÍ þkMkLkLkku ytík íkk. 19{e rzMkuBçkh, 1961 Lkk hkus ykðu÷ níkku.

2. yk Mk{Þu ÃkkuxwoøkeÍ økðLkoh sLkh÷ íkhefu rz-MkÕðk níkk.

(A) rðÄkLk (1) Mkk[wt yLku (2) ¾kuxwt Au. (B) çktLku rðÄkLkku ¾kuxkt Au.

(C) çktLku rðÄkLkku Mkk[kt Au. (D) rðÄkLk (1) ¾kuxwt yLku (2) Mkk[wt Au.

030. ÷kuzo fÍoLkLkk Mk{Þ{kt Mkh Úkku{Mk hu÷uLkk «{w¾ ÃkËu òLÞwykhe 1902{kt yuf fr{þLkLke h[Lkk fhðk{kt ykðu÷, su
Lke[uLkk Ãkife fkuLku MktçktrÄík níkwt ?

(A) LkkýkfeÞ MkwÄkhk (B) þiûkrýf MkwÄkhk

(C) ðneðxíktºkLke MkwÄkhýk (D) LÞkÞíktºkLke MkwÄkhýk

031. E.Mk. 1508{kt rËÕneLkk Mkw÷íkkLk rMkftËh ÷kuËeyu ÃkkuíkkLkk yuf ËqíkLku ¼ux MkkuøkkËku MkkÚku økwshkík {kufÕÞku níkku. ¼khíkLkk
RríknkMk{kt yuf «kËurþf Mk¥kkLku ¼køÞu ykðwt {kLk {éÞwt nþu ! yk {kLk {u¤ðLkkh þkMkf fkuý níkku ?

(A) Mkw÷íkkLk {wÍ^Vh þkn (B) yn{Ë þkn

(C) {n{qË þkn çkuøkzku (D) WÃkh Ãkife yuf Ãký Lknª

032. Lke[uLkk fÞk økðLkoh sLkh÷Lkk Mk{Þ{kt çkhkfÃkwhLkku níÞkfktz yLku ¼híkÃkwhLkk yiríknkrMkf rfÕ÷k ÃkhLke SíkLkk çkLkkðku
çkLÞk níkk ?

(A) ÷kuzo r{Lxku (B) ÷kuzo nu®MxøMk

(C) ÷kuzo ÷ufLk (D) ÷kuzo yu{nMxo

033. hk»xÙeÞ {nkMk¼kLkk ºkeò yrÄðuþLk{kt «{w¾ íkhefu fkuLku [qtxðk{kt ykÔÞk níkk ?

(A) çkËYËeLk íkiÞçkS (B) ÔÞku{uþ[Lÿ çkuLkhS

(C) ËkËk¼kE LkðhkuS (D) MkwhuLÿLkkÚk çkuLkhS

034. Lke[u Ëþkoðu÷ òuzfkt Ãkife fE òuzfw/òuzfkt Mkk[wt/Mkk[kt Au, íkuLkku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

1. þf MktðíkLkku «kht¼ – E. Mk. 78

2. rþðkSLkku sL{ – E. Mk. 1628

3. {íkkrÄfkh {kxu MkkWÚk çkhku fr{xe – E. Mk. 1919

4. ¼khík yLku [eLk ðå[u Ãkt[þe÷ Mk{sqíke – E. Mk. 1954

(A) 1, 2, 3 (B) 2, 3, 4

(C) 1, 3, 4 (D) 1, 2, 3 yLku 4
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035. ÷tzLk{kt ÞkuòÞu÷ ºkýuÞ økku¤{uS Ãkrh»kË{kt Lke[uLkk Ãkife fkuý nksh hnu÷ níkk ?

(A) ÷kuf{kLÞ rík÷f (B) sðknh÷k÷ LkunY

(C) {nkí{k økktÄe (D) zkp. çke. ykh. yktçkuzfh

036. nhesLk Mkuðf Mk{ksLke økktÄeS îkhk fÞk ð»ko{kt MÚkkÃkLkk fhðk{kt ykðe níke ?

(A) 1934 (B) 1931

(C) 1933 (D) 1932

037. ¼khík Mkhfkh îkhk MkktMkË ykËþo økúk{ ÞkusLkk õÞkhÚke þY fhðk{kt ykðe níke ?

(A) yur«÷, 2014 (B) swLk, 2014

(C) ykuõxkuçkh, 2014 (D) yur«÷, 2015

038. yÕÃk çkuhkusøkkhe íÞkhu ÚkkÞ Au ßÞkhu ÷kufku -

(A) fk{ fhðk EåAwf LkÚke nkuíkk. (B) MkwMík ZtøkÚke fk{ fhíkk hnu Au.

(C) ÃkkuíkkLke ûk{íkkÚke ykuAwt fk{ fhíkk hnu Au. (D) íku{Lkk fk{ {kxu ð¤íkh / [qfðýwt fhðk{kt ykðíkwt LkÚke.

039. MkkuE÷ nuÕÚk fkzo Mfe{Lke þYykík fE Ãkt[ð»keoÞ ÞkusLkk ytíkøkoík ÚkE níke ?

(A) ËMk{e (B) Lkð{e

(C) yøkeÞkh{e (D) çkkh{e

040. ELxu÷uõåÞwy÷ «kuÃkxeo yÃku÷ux çkkuzo (IPAB) Lkwt {Úkf fÞk MÚk¤u ykðu÷ Au ?

(A) {wtçkE (B) [uLLkkE

(C) rËÕne (D) f÷f¥kk

041. hkusøkkh - çkuhkusøkkhLkku Mkðuo fE MktMÚkk îkhk nkÚk Ähðk{kt ykðu Au ?

(A) LkuþLk÷ MkuBÃk÷ Mkðuo ykuøkuoLkkEÍuþLk (B) r{LkeMxÙe ykuV ÷uçkh yuLz yuBÃk÷kuE{uLx

(C) rzÃkkxo{uLx ykuV ÃkMkkuoLku÷ yuLz xÙuLkªøk (D) WÃkh Ãkife yuf Ãký Lknª

042. yMktøkXeík ûkuºkLkk økheçke hu¾k nuX¤Lkk fwxwtçkku {kxu ¼khík Mkhfkh îkhk hk»xÙeÞ MðkMÚÞ ðe{k ÞkusLkk þY fhðk{kt
ykðu÷ Au, íku fÞk ð»koÚke fkÞkoÂLðík ÚkÞu÷ níke ?

(A) E.Mk. 2005 (B) E.Mk. 2006

(C) E.Mk. 2008 (D) E.Mk. 2010

043. Lke[u Ëþkoðu÷ Ãkt[ð»keoÞ ÞkusLkkyku Ãkife fE Ãkt[ð»keoÞ ÞkusLkk{kt SzeÃke Lkk ytËkSík ÷ûÞktf fhíkk ðÄw ÷ûÞktf rMkØ
ÚkÞu÷ Au ?

(A) çkeS (B) ºkeS

(C) [kuÚke (D) ykX{e

044. ÃkÂç÷f VkÞLkkLMkeÞ÷ {uLkus{uLx MkeMx{Lke ykuLk÷kELk þYykík fÞk ð»ko{kt ÚkE níke ?

(A) E.Mk. 2004 (B) E.Mk. 2006

(C) E.Mk. 2008 (D) E.Mk. 2010
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045. Äe ðÕzo nuÃkeLkuMk rhÃkkuxo, 2019{kt fw÷ 156 Ëuþku Ãkife ¼khíkLkku Mk{kðuþ fÞk ¢{ Ãkh ÚkÞu÷ Au ?

(A) 133 (B) 140

(C) 85 (D) 112

046. sÚÚkk çktÄ ¼kð Mkqr[ (Wholesale Price Index) fE MktMÚkk/rð¼køk îkhk ònuh fhðk{kt ykðu Au ?

(A) ykurVMk ykuV Äe EfkuLkku{ef yuzðkEÍh, {eLkeMxÙe ykuV fku{Mko yuLz ELzMxÙe

(B) rzÃkkxo{uLx ykuV EfkuLkku{ef yVuMko

(C) rzÃkkxo{uLx ykuV huðLÞw

(D) {eLkeMxÙe ykuV MxuxeMxeõMk yuLz «kuøkúk{ EBÃk÷e{uLxuþLk

047. LkuþLk÷ zuhe Ã÷kLk, «Úk{ íkçk¬k (Phase I)Lke þYykík fÞk ð»ko{kt fhðk{kt ykðe níke ?

(A) E.Mk. 2014 (B) E.Mk. 2015

(C) E.Mk. 2016 (D) E.Mk. 2012

048. ¼khík Mkhfkh îkhk ð»ko 2016{kt þY fhðk{kt ykðu÷ “Äe Mxkxo yÃk EÂLzÞk”Lkwt M÷kuøkLk þwt Au ?

(A) Mxkxo yÃk EÂLzÞk (B) MxuLz yÃk EÂLzÞk

(C) Mxkxo yÃk EÂLzÞk yuLz MxuLz yÃk EÂLzÞk (D) fkuE M÷kuøkLk hk¾ðk{kt ykðu÷ LkÚke

049. ¼khíkLkk MktrðÄkLkLkk yk{w¾{kt ËþkoÔÞk {wsçk yk MktrðÄkLk yÃkLkkðe, íkuLku yrÄrLkÞr{ík fhe fkuLku yŠÃkík fhðk{kt
ykðu÷ Au ?

(A) Mkðo ÷kufkuLku (B) Mkðo LkkøkrhfkuLku

(C) y{Lku ÃkkuíkkLku (D) WÃkh Ãkife yuf Ãký Lknª

050. ¼khíkLkk MktrðÄkLk{kt ¼køk-3 {q¤¼qík nfku ytíkøkoík “hkßÞ”{kt Lke[uLkk Ãkife þkLkku Mk{kðuþ ÚkkÞ Au ?

(A) ¼khíkLke Mkhfkh yLku MktMkË

(B) Ëhuf hkßÞLke Mkhfkh yLku íkuLkwt rðÄkLk {tz¤

(C) ¼khíkLkk hkßÞûkuºkkuLke ytËhLkk yÚkðk ¼khík MkhfkhLkk rLkÞtºký nuX¤Lkk ík{k{ MÚkkrLkf fu çkeò Mk¥kk {tz¤ku

(D) WÃkh (A), (B) yLku (C) {kt Ëþkoðu÷k ík{k{

051. ¼khíkLke Lkkrøkhf Lk nkuÞ íkuðe fkuE Ãký ÔÞÂõík hkßÞ nuX¤Lkku fkuE ÷k¼ËkÞf yÚkðk rðïkMkLkku nkuÆku Ähkðíke nkuÞ íku
Ëhr{ÞkLk íku{LkkÚke fkuLke Mkt{rík rðLkk fkuE rðËuþe hkßÞ ÃkkMkuÚke fkuE r¾íkkçk Mðefkhe þfkíkku LkÚke ?

(A) hk»xÙÃkrík (B) ðzk«ÄkLk

(C) hkßÞÃkk÷ (D) MktçktrÄík hkßÞLkk {wÏÞ{tºke

052. hkßÞLkeríkLkk {køkoËþof rMkØktíkkuLkk MktçktÄ{kt Lke[uLkk rðÄkLkku rð[khýk{kt ÷ELku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

1. fkuE LÞkÞk÷ÞÚke hkßÞLkeríkLkk {køkoËþof rMkØktíkkuLke òuøkðkEykuLkku y{÷ fhkðe þfkþu Lknª.

2. Aíkkt yk rMkØktíkku ËuþLkk hkßÞ ðneðx{kt {q¤¼qík Au yLku fkÞËk fhíke ð¾íku yk rMkØktíkku ÷køkw Ãkkzðk íku hkßÞLke
Vhs hnuþu.

(A) rðÄkLk (1) Mkk[wt yLku (2) ¾kuxwt Au. (B) rðÄkLk (1) ¾kuxwt yLku (2) Mkk[wt Au.

(C) çktLku rðÄkLkku Mkk[kt Au. (D) çktLku rðÄkLkku ¾kuxkt Au.
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053. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ELku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

1. furLÿÞ {tºkeykuLkk Ãkøkkh yLku ¼ÚÚkkt hk»xÙÃkrík ð¾íkku ð¾ík Lk¬e fhu Au.

2. furLÿÞ {tºkeyku hk»xÙÃkríkLke {hS nkuÞ íÞkt MkwÄe nkuÆku Ähkðe þfu Au.

(A) rðÄkLk (1) Mkk[wt yLku (2) ¾kuxwt Au. (B) rðÄkLk (1) ¾kuxwt yLku (2) Mkk[wt Au.

(C) çktLku rðÄkLkku ¾kuxkt Au. (D) çktLku rðÄkLkku Mkk[kt Au.

054. hkßÞMk¼k{kt Lke[uLkk hkßÞku Ãkife fÞk hkßÞLke çkuXfkuLke Vk¤ðýe MkkiÚke ðÄw Au ?

(A) økwshkík (B) hksMÚkkLk

(C) fuh¤ (D) ykurhMMkk

055. Wå[ LÞkÞk÷ÞLkk fkuE LÞkÞkÄeþ, fkuLku MktçkkuÄeLku ÃkkuíkkLke Mkneðk¤k ÷¾kýÚke ÃkkuíkkLkk nkuËkLkwt hkSLkk{wt ykÃke þfu Au ?

(A) {wÏÞ LÞkÞ{qŠík, Wå[ LÞkÞk÷Þ (B) {wÏÞ LÞkÞ{qŠík, Wå[ík{ LÞkÞk÷Þ

(C) MktçktrÄík hkßÞLkk hkßÞÃkk÷ (D) hk»xÙÃkrík

056. Ëhuf MíkhLke Ãkt[kÞíkkuLkk yæÞûkkuLkk nkuËkLke fw÷ MktÏÞkLkk fux÷kÚke ykuAk Lk nkuÞ íkux÷k nkuÆkyku, {rn÷kyku {kxu yLkk{ík
hk¾ðkLkk nkuÞ Au ?

(A) çku ík]íkeÞktþÚke (B) yuf ík]íkeÞktþÚke

(C) Ãk[eMk xfkÚke (D) ºkeMk xfkÚke

057. ¼khíkLkk MktrðÄkLkLkk fÞk yLkwåAuËLke òuøkðkE nuX¤ hkßÞÃkk÷, hkßÞLkk yuzðkufux sLkh÷Lke rLk{ýqtf fhu Au ?

(A) yLkwåAuË - 164 (B) yLkwåAuË - 165

(C) yLkwåAuË - 166 (D) yLkwåAuË - 167

058. fÞk ð»koLkk yrÄrLkÞ{Úke furLÿÞ Mkíkfoíkk ykÞkuøkLku ðiÄkrLkf Ëhßòu {¤u÷ Au ?

(A) E. Mk. 1998 (B) E. Mk. 2000

(C) E. Mk. 2003 (D) E. Mk. 2001

059. ÷kufÃkk÷ yLku ÷kufkÞwõík yrÄrLkÞ{, 2013 {wsçk h[ðk{kt ykðu÷ ¾kMk LÞkÞk÷Þu fuMk Ëk¾÷ ÚkÞkÚke fux÷k Mk{Þ{kt
Mkk{kLÞ heíku íkuLkku rLkfk÷ fhðkLkku nkuÞ Au ?

(A) A {rnLkk{kt (B) yuf ð»ko{kt

(C) çku ð»ko{kt (D) fkuE {wËík rLkÞík fhkÞu÷ LkÚke

060. 14{k Lkkýk Ãkt[Lke ¼÷k{ýLkku Mk{Þøkk¤ku fÞku Au ?

(A) 2013-14 Úke 2017-18 (B) 2012-13 Úke 2016-17

(C) 2015-16 Úke 2019-20 (D) 2016-17 Úke 2020-21

061. çku MktÏÞkLkku ÷½w¥k{ MkkÄkhý yðÞð 450 Au íkÚkk íkuLkku økwYík{ MkkÄkhý yðÞð 10 Au. òu íku Ãkife yuf MktÏÞk 50 nkuÞ
íkku çkeS MktÏÞk fE nþu ?

(A) 50 (B) 10

(C) 90 (D) 450
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062. YrÃkÞk 234/-Lku f, ¾ yLku øk {kt 
1 1 1, ,
2 3 4
   Lkk økwýku¥kh{kt ðnU[ðkLkk níkk, Ãkhtíkw Mkhík[qfÚke íku 2 : 3 : 4 Lkk økwýku¥kh{kt

ðnU[ðk{kt ykÔÞk. yk «fkhu fkuLku MkkiÚke ðÄkhu ÷k¼ ÚkÞku nþu yLku fux÷k YrÃkÞkLkku ÷k¼ ÚkÞku nþu ?

(A) ¾, YrÃkÞk 3 (B) f, YrÃkÞk 56

(C) øk, YrÃkÞk 50 (D) øk, YrÃkÞk 60

063. yuf ÔÞÂõík ÃkkuíkkLke ykðfLkk 
133 %
3

 ¾[o fhu Au yLku íku Ëh {rnLku YrÃkÞk 1200/- Lke çk[ík fhu Au. íkku íkuLkku ¾[o

(Ëh {rnLku) fux÷k YrÃkÞk Úkþu ?

(A) 1200 YrÃkÞk (B) 1800 YrÃkÞk

(C) 2400 YrÃkÞk (D) 600 YrÃkÞk

064. yuf LkøkhLke ðMkíke 40,000 níke. yuf ð»ko{kt ÃkwY»kkuLke ðMíke{kt 10% íkÚkk {rn÷kykuLke ðMíke{kt 8% Lkku ðÄkhku ÚkÞu÷.
Ãkhtíkw fw÷ ðMíke{kt 9% Lkku ðÄkhku ÚkÞu÷ íkku íku Lkøkh{kt ÃkwY»kkuLke MktÏÞk fux÷e nþu ?

(A) 25,000 (B) 20,000
(C) 30,000 (D) 25,500

065. yuf ÔÞÂõík 500 {exh Ãknku¤e Mkzf 75 Mkuftz{kt ÃkMkkh fhu Au. íkku íkuLke ÍzÃk fux÷k rf.{e./f÷kfLke nþu ?

(A) 25 (B) 20
(C) 30 (D) 24

066. Lke[uLke MktÏÞk ©uýe{kt fE MktÏÞk çktÄ çkuMkíke LkÚke ?

7, 32, 79, 142, 223, 322

(A) 79 (B) 32
(C) 142 (D) 322

067. xuçk÷ yLku ¾whþeLke ®f{íkLkku økwýku¥kh 9 : 4 Au. xuçk÷Lke ®f{ík ¾whþeLke ®f{ík fhíkkt YrÃkÞk 1250 ðÄkhu Au. ¾whþeLke
®f{ík fux÷e nþu ?

(A) 600 (B) 800

(C) 1200 (D) 1000

068. Lke[u Ëþkoðu÷ Mk{efhý ¾kuxwt Au. yk Mk{efhýLku Mkk[wt fhðk {kxu fÞk çku r[LnkuLku ykÃkMk{kt yhMk ÃkhMk çkË÷ðkLkk ÚkkÞ ?

24 2 + 35 – 8 10 = 57

(A)  yLku  (B)  yLku –

(C) – yLku + (D)  yLku –

069. òu 6241 = 9 yLku 3732 = 20 nkuÞ íkku 4523 = ?

(A) 27 (B) 21
(C) 23 (D) 18

070. òu 15 ðMíkwykuLke {q¤ ®f{ík 10 ðMíkwykuLke ðu[ký ®f{ík sux÷e nkuÞ íkku LkVku fux÷k xfk ÚkkÞ ?

(A) 40% (B) 45%
(C) 60% (D) 50%
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071. yuf Ãkheûkk{kt økrýíkLkk rð»kÞ{kt 35% rðãkÚkeoyku LkkÃkkMk ÚkÞk Au yLku rð¿kkLkLkk rð»kÞ{kt 25% rðãkÚkeoyku LkkÃkkMk
ÚkÞk Au. òu çktLku rð»kÞ{kt 10% rðãkÚkeoyku LkkÃkkMk ÚkÞk nkuÞ íkku fux÷k xfk rðãkÚkeoyku ÃkkMk ÚkÞk nþu ?

(A) 40% (B) 45%

(C) 50% (D) 55%

072. STU, WXY, ABC, .....?.....

(A) EFG (B) EDF

(C) DEF (D) FDE

073. hkunq, fík÷k yLku rn÷Mkk fÞk «kýeykuLke «òríkyku Au ?

(A) Ëuzfkt (B) {økh

(C) {kA÷e (D) fk[çkk

074. ¼khík{kt MÃkez ÃkkuMxLke þYykík fÞk ð»koÚke fhðk{kt ykðe níke ?

(A) E. Mk. 1985 (B) E. Mk. 1986

(C) E. Mk. 1990 (D) E. Mk. 1995

075. ¼khík{kt MkkiÚke ðÄw {uLøkúkuðLkk ð]ûkku fÞkt ykðu÷k Au ?

(A) økwshkík (B) fuhk÷k

(C) yktËk{kLk yLku rLkfkuçkkh xkÃkwyku (D) Ãkrù{ çktøkk¤

076. LkuþLk÷ çkkÞkuzkEðMkeoxe ykuÚkkuhexeLkwt ðzwt {Úkf õÞkt ykðu÷ Au ?

(A) {wtçkE (B) [uLLkkE

(C) ËnuhkËqLk (D) LÞq rËÕne

077. ¼k¼k ykuxku{ef rhMk[o MkuLxh îkhk Lke[uLkk Ãkife fÞk MÚk¤u ¼qftÃkLku MktçktrÄík «ð]r¥kykuLkwt rLkÞtºký (Monitoring)
fhðk{kt ykðu Au ?

(A) økkiheçkeËkLkkih (GAURIBIDANAUR) (B) rËÕne

(C) xÙkuBçku (D) WÃkhLkk ºkýuÞ MÚk¤u

078. fÞk ð»ko{kt {kMko ykuçkeoxh MÃkuMk¢k^x (Mars Orbiter Space Craft) Lku {tøk¤ økúnLke ¼ú{ýfûkk{kt MkV¤íkkÃkqðof
{kuf÷eLku ¼khíku rðï{kt [kuÚkk hk»xÙ íkhefu yLku «Úk{ s «ÞíLku {kuf÷eLku Ãknu÷k hk»xÙ íkhefu rMkrØ nktMk÷ fhu÷ níke ?

(A) E. Mk. 2012 (B) E. Mk. 2010

(C) E. Mk. 2014 (D) E. Mk. 2016

079. E÷uõxÙkuLMkLke þkuÄ Lke[uLkk Ãkife fÞk ði¿kkrLkfu fhe níke ?

(A) su. su. ÚkkuBÃkMkLk (B) søkËeþ[Lÿ çkkuÍ

(C) yuzðeLk nçk÷ (D) Mke. ðe. hk{Lk

080. ð»ko 2018 Lkku çkkuh÷kuøk yuðkuzo fkuLku {¤u÷ Au ?

(A) fu. ðe. «¼w (B) ykE. ðe. Mkwççkkhkð

(C) ðuEVUøk Íktøk (D) WÃkh Ãkife yuf Ãký Lknª
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081. Äe ÷k~fuh yuðkuzTÍo (The Lasker Awards) fÞk ûkuºk{kt ykÃkðk{kt ykðu Au ?

(A) íkçkeçke rð¿kkLk (B) f]r»k rð¿kkLk

(C) Ãkh{kýw rð¿kkLk (D) Sð rð¿kkLk

082. økrýík þkMºkLkk ûkuºk{kt Wíf]ü ði¿kkrLkf fkÞo {kxu ykÃkðk{kt ykðíkku yuçk÷ «kEÍ (Abel Prize) yuðkuzo fÞk Ëuþ îkhk
ykÃkðk{kt ykðu Au ?

(A) MðezLk (B) LkuÄh÷uLz

(C) Lkkuðuo (D) LÞwÍe÷uLz

083. Excel {kt hku Lke MktÏÞk .......... Au.
(A) 65,530 (B) 65,536
(C) 65,535 (D) 65,525

084. Lke[uLkk rðÄkLkku íkÃkkMkku yLku ykÃku÷k rðfÕÃkku{ktÚke Mkk[ku sðkçk ÃkMktË fhku.

1. SIM Lkwt Ãkqhwt Lkk{ - “Subscriber Identity Module” Au.

2. PDF Lkwt Ãkqhwt Lkk{ - “Portable Document Format” Au.

(A) rðÄkLk (1) Mkk[wt yLku (2) ¾kuxwt Au. (B) rðÄkLk (1) ¾kuxwt yLku (2) Mkk[wt Au.

(C) çktLku rðÄkLkku ¾kuxkt Au. (D) çktLku rðÄkLkku Mkk[kt Au.

085. furLÿÞ çksux 2019-20 {kt fÞk ð»ko MkwÄe{kt Ëhuf ½hLku ÃkkEÃk÷kELk {khVík Ãkkýe WÃk÷çÄ fhkððkLkwt ÷ûÞktf hk¾ðk{kt
ykðu÷ Au ?
(A) 2022 (B) 2023
(C) 2024 (D) 2025

086. furLÿÞ çksux 2019-20 {kt {Lkhuøkk ÞkusLkk {kxu fux÷k fhkuz YrÃkÞkLke òuøkðkE fhðk{kt ykðu÷ Au ?
(A) 60,000 (B) 58,000
(C) 52,000 (D) 50,000

087. ykŠÚkf Mk{eûkk 2018-19 yLkwMkkh 2024-25 MkwÄe{kt Ãkkt[ rxÙ÷eÞLk zku÷hLke yÚkoÔÞðMÚkk {kxu fux÷k xfk ðkMíkrðf
SzeÃke rðfkMk ËhLke sYhík Au ?
(A) 7.0 (B) 7.2
(C) 8.0 (D) 7.8

088. «rMkæÄ yr¼Lkuíkk røkheþ fLkkozLku fux÷e ð¾ík hk»xÙeÞ rVÕ{ ÃkwhMfkh {¤u÷ Au ?

(A) A (B) ykX

(C) ËMk (D) çkkh

089. íktçkkfwLkk rLkÞtºký {kxu fÞk hkßÞLkk r[rfíMkk yLku MðkMÚÞ rð¼køkLku ðÕzo nuÕÚk ykuøkuoLkkEÍuþLkLkku ð»ko 2019 Lkku ÃkwhMfkh
{¤u÷ Au ?

(A) {nkhk»xÙ (B) hksMÚkkLk

(C) Íkh¾tz (D) yktÄú«Ëuþ

090. fÞk hkßÞ îkhk {wÏÞ{tºke ð]ØsLk ÃkuLþLk ÞkusLkk þY fhðk{kt ykðu÷ Au ?

(A) W¥kh«Ëuþ (B) {æÞ«Ëuþ

(C) rçknkh (D) íku÷tøkkýk
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091. ð»ko 2018Lke økýíkhe yLkwMkkh Lke[u Ëþkoðu÷ hkßÞku Ãkife fÞk hkßÞ{kt ðk½Lke MktÏÞk MkkiÚke ðÄw Au ?

(A) fýkoxf (B) W¥khk¾tz

(C) ykurhMMkk (D) {æÞ«Ëuþ

092. ð»ko 2019Lkku hu{Lk {iøMkuMku yuðkuzo Lke[uLkk Ãkife fkuLku {¤u÷ Au ?

(A) hðeþ fw{kh (B) MkkuLk{ ðktøk[wf

(C) ¼hík ðxðkLke (D) WÃkhkuõík Ãkife yufÃký Lknª

093. ¢kEMx[[o fku÷ Vkuh yuõþLk / ¢kEMx[[o fku÷ xw yuõþLk{kt Lke[uLkk Ãkife fÞku Ëuþ Mkk{u÷ Au ?

(A) LÞwÍe÷uLz (B) £kLMk

(C) ¼khík (D) WÃkhkuõík ík{k{

094. ¼khíkeÞ MkuLkk îkhk “¾zTøk «nkh” Lkk{Lkk «rþûký yÇÞkMkLkwt ykÞkusLk fÞk hkßÞ{kt fhðk{kt ykðu÷ níkwt ?

(A) nrhÞkýk (B) {nkhk»xÙ

(C) Ãktòçk (D) ykurhMMkk

095. yurþÞkE MLkqfh [uÂBÃkÞLkrþÃk, 2019Lkku ÃkwY»k ðøkoLkku r¾íkkçk fkuýu Síku÷ Au ?

(A) çkkçkh {krMkn (B) Ãktfs yzðkýe

(C) ÚkkLkkðx xehkÃkkuLøkÃkkEçkqLk (D) yM{Ë Efçkk÷

096. ð»ko 2019 {kxu “MkkrníÞ”Lkk Lkkuçku÷ ÃkwhMfkh {kxu fkuLke ÃkMktËøke ÚkÞu÷ Au ?

(A) fkÍwyku EMkeøkwhku (B) çkkuçk ze÷kLk

(C) ykuÕøkk xkufkfÍwof (D) Ãkexh nIzfu

097. Lkerík ykÞkuøk îkhk Mfq÷ rþûkk økwýð¥kk Mkq[fktf, 2019 ònuh fhðk{kt ykðu÷ Au, su{kt 20 {kuxk hkßÞku{kt MkkiÚke AuÕ÷k
MÚkkLk Ãkh fÞk hkßÞLkku Mk{kðuþ ÚkÞu÷ Au ?

(A) sB{w-fk~{eh (B) W¥kh«Ëuþ

(C) Ãktòçk (D) rçknkh

098. furLÿÞ s÷ {tºkk÷Þ îkhk íkkhe¾ 2S ykuõxkuçkh, 2019 Lkk hkus ðkŠ»kf MðåA Mkðuoûký, 2019 Lkku ynuðk÷ ònuh
fhðk{kt ykðu÷ Au, su{kt .......... hkßÞLkk ÃkuÆkÃkÕ÷e rsÕ÷kLku Ëuþ{kt Mk{økúYÃku Mkðo©uc rsÕ÷k íkhefu ònuh fhu÷ Au.

(A) íkr{÷Lkkzw (B) yktÄú«Ëuþ

(C) íku÷tøkkýk (D) fuhk÷k

099. “r÷çkúk” (Libra) þçË Lke[uLkk{ktÚke fkuLku MktçktrÄík Au ?

(A) yuf r¢ÃxkufhLMke

(B) Mkkçkh ¢kE{

(C) £ktMk{kt MkhfkhLke rðYæÄ ÷kufku îkhk Úkíkku rðhkuÄ «ËþoLk

(D) WÃkh Ãkife yufÃký Lknª

100. ziLke fkÞu {kLkðkrÄfkh ÃkwhMfkh {kxu Lke[uLkk{ktÚke fkuLke ÃkMktËøke ÚkÞu÷ Au ?

(A) {kÄwhe rËûkeík (B) Mk÷{kLk¾kLk

(C) r«Þtfk [kuÃkzk (D) fkòu÷
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101. Steels can have maximum percentage of carbon as:
(A) 2 percent (B) 0.4 percent
(C) 6.67 percent (D) 3.6 percent

102. Pig iron is the form which contains:
(A) Pure iron without any carbon (B) Iron with 4.0 percent carbon
(C) Iron with 2.0 percent carbon (D) Iron with no constraint on carbon

103. Ceramics are good _______
(A) Conductors (B) Insulators
(C) Superconductors (D) Magnetic materials

104. Recrystallization temperature is one:
(A) At which crystals start forming from molten metal when it is cooled
(B) At which new crystals first begin to form from the old deformed one when a strained

metal is heated
(C) At which change of allotropic form takes place
(D) At which crystals grow bigger in size

105. Ductility of any material is the property which shows:
(A) Resistance to impact
(B) Resistance to indentation
(C) Ability to undergo large permanent deformations in tension
(D) All of the above

106. Usually stronger constituent of a composite is
(A) Matrix (B) Reinforcement
(C) Both are of equal strength (D) Fillers

107. In polymer composites, polymer acts as a
(A) Matrix (B) Reinforcement
(C) Interphase (D) Interface

108. Viscosity Index (VI) is a measure for the change of viscosity with change in
(A) Temperature (B) Pressure
(C) Volume (D) All of the above

109. Graphite is _______ lubricant
(A) Solid (B) Liquid
(C) Semi solid (D) None

110. Semi-solid lubricant is
(A) Castor oil (B) Lard oil
(C) Grease (D) All of the above

111. Rayon is made from:-
(A) Wood pulp (B) Bark of the tree
(C) Dry leaves (D) Petroleum products 

112. The synthetic fiber is:-
(A) Carbon (B) Nylon
(C) Glass (D) All of the above
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113. The material similar to silk in appearance is
(A) Nylon (B) Rayon
(C) Polyester (D) Terylene

114. Viscose rayon filaments are produced through the process of:
(A) Solution spinning (B) Melt spinning
(C) Gel spinning (D) Dry jet wet spinning

115. Di-acetate fiber is:
(A) Manmade fiber (B) Modified protein fiber
(C) Modified cellulosic fiber (D) None of the above

116. Brass is a solution of molten copper in
(A) Solid zinc (B) Molten zinc
(C) Gaseous zinc (D) Molten tin

117. Diamond is lustrous because
(A) It is colourless (B) It is hard
(C) It is pure (D) Its refractive index is high

118. Which of the following is not a natural abrasive?
(A) Emery (B) Quartz
(C) Silicon carbide (D) Sandstone

119. Which of the following types of polymers is a copolymer?
(A) Graft (B) Network
(C) Linear (D) Branched

120. Which is a thermoset polymer?
(A) Polyethylene (B) Polypropylene
(C) Polylactic acid (D) Epoxy

121. Atmospheric pressure is equal to
(A) 1.013 bar (B) 101.3 kN/m2

(C)  70 mm of Hg (D)  All of the above
122. First law of thermodynamics deals with

(A) Conservation of heat (B) Conservation of momentum
(C) Conservation of mass (D) Conservation of energy

123. What is the ratio of specific heats of air?
(A) 1.29 (B) 1.40
(C) 1.62 (D) 1.51

124. The general law of expansion or compression is pvn = C. The is said to be hyperbolic, if n is equal
to
(A) 0 (B) 1
(C)  (D) 

125. A platinum resistance thermometer has a resistance of 2.8 ohm at 0°C and 3.8 ohm at 100°C.
Calculate the temperature when the resistance indicated is 5.8 ohm.
(A) 100°C (B) 200°C
(C) 300°C (D) 400°C
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126. A fluid is confined in a cylinder by a springe loaded, frictionless piston so that the pressure in the
fluid is a linear function of the volume (p = a + bV). The internal energy of the fluid is given by
the following equation: U = 34 + 3.15 pV, where U is in kJ, p in kPa and V in m3. If the fluid
changes from an initial state of 170 kPa, 0.03 m3 to a final state of 400 kPa, 0.06 m3, with no work
other than that done on the piston, find the magnitude of the work and heat transfer.
(A) 8.55 kJ, 68.05 kJ (B) 8.55 kJ, 59.50 kJ
(C) 68.05 kJ, 8.55 kJ (D) 59.50 kJ, 8.55 kJ

127. Which of the following is not a thermodynamic property?
(A) Pressure (B) Temperature
(C) Heat (D) Specific volume

128. A mass of 2.5 kg nitrogen occupying 1.5 m3 is heated from 25°C to 200°C at a constant volume.
Calculate the initial and final pressures of the gas. Take universal gas constant as 8314 J/kg
mol K. The molecular mass of nitrogen is 28.
(A) 1.88 bar, 3.90 bar (B) 1.33 bar, 2.11 bar
(C) 1.33 bar, 3.90 bar (D) 1.88 bar, 2.11 bar

129. A process, in which the gas is heated or expanded in such a way that the product of its pressure
and volume remains constant, is called
(A) Isothermal process (B) Isobaric process
(C) Adiabatic process (D) Polytropic process

130. Which of the following is the characteristic feature of a quasi-static process?
(A) Infinite slowness (B) Rapidity
(C) Stability (D) Stationary existence

131. Which of the following is not a renewable source of energy?
(A) Solar energy (B) Tidal energy
(C) Wind energy (D) Fossil fuels

132. The work done by a closed system will increase when the value of the polytrophic index n
(A) Increases (B) Decreases
(C) First increases and then decreases (D) First decreases and then increases

133. The more effective way of increasing the efficiency of a Carnot engine is to
(A) Increase the higher temperature (B) Decrease the lower temperature
(C) Decrease the higher temperature (D) Increase the lower temperature

134. The door of the running refrigerator inside a room is left open. Which of the following statement
is correct?
(A) The room will be cooled to the temperature inside the refrigerator.
(B) The room will be cooled only slightly.
(C) The room will be gradually warmed up.
(D) The temperature of the room will remain unaffected.

135. For real gases, cp = cv occurs at
(A) Critical temperature (B) Triple point
(C) All temperatures (D) Absolute zero temperature

136. There is no entropy transfer from a system to its surroundings
(A) By heat transfer (B) By mass transfer
(C) By heated mass transfer (D) By work transfer
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137. Match the list 1 with list 2 and choose the correct answer from the code given below:
                    List 1              List 2
(Laws of thermodynamics)           (Introduces/defines)
a. First 1.  Absolute zero temperature
b. Second 2.  Internal energy
c. Zeroth 3.  Temperature
d. Third 4.  Entropy

(A) a - 1, b - 2, c - 3, d - 4 (B) a - 3, b - 4, c - 2, d - 1
(C) a - 4, b - 2, c - 1, d - 3 (D) a - 2, b - 4, c - 3, d - 1

138. An isentropic process:
(A) is always reversible (B) is always adiabatic
(C) need not be adiabatic or reversible (D) is always frictionless

139. Assertion (A): On a p-v plane, we cannot draw two reversible adiabatic lines from the same
point.
Reasoning (R): It is impossible to construct a perpetual motion machine of second kind.
Select the answer using the code given below:
(A) Both A and R is true, but R is not the correct explanation of A.
(B) Both A and R is true, and R is the correct explanation of A.
(C) Both A and R is false.
(D) A is true, but R is false.

140. A Thermodynamic cycle is impossible if

(A) 0dQ
T

 (B) 0dQ
T



(C) 0dQ
T

 (D) 0ds 
141. Calculate the total resistance between the points A and B.

A

B

1 ohm

2 ohm

3 ohm

4 ohm

(A) 7 ohm (B) 10 ohm
(C) 7.67 ohm (D) 0.48 ohm

142. Resistance of a wire depends upon
(A) Cross sectional area (B) Length of the wire
(C) Wire material’s nature (D) All of the above

143. Change in resistance is measured using a _______
(A) Anderson’s bridge (B) Wheatstone’s bridge
(C) Hay’s bridge (D) Maxwell’s bridge
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144. Line voltage equal to Phase voltage in-
(A) Star connection (B) Delta connection
(C) Short circuit connection (D) Open circuit connection

145. KCL is based on the fact that
(A) There is a possibility for a node to store energy.
(B) There cannot be an accumulation of charge at a node.
(C) Charge accumulation is possible at node
(D) Charge accumulation may or may not be possible.

146. All _______ are loops but _______ are not meshes
(A) Loops, Meshes (B) Meshes, loops
(C)  Branches, loops (D) Nodes, Branches

147. KVL deals with the conservation of?
(A) Mass (B) Momentum
(C) Charge (D) Energy

148. How should the properties of strength and dielectric strength in insulating materials?
(A) High strength, low Dielectric strength (B) Low strength, low Dielectric strength
(C) High strength, high Dielectric strength (D) Low strength, high Dielectric strength

149. RCCB stands for –
(A) Residual Current Circuit Breaker (B) Released Current Circuit Breaker
(C) Residual Capacitance Circuit Breaker (D) Released Capacitance Circuit Breaker

150. In Transmission and Distribution sector, where should the insulators be placed?
(A) Between towers and poles (B) Between towers and ground
(C) Between towers and conductors (D) Between conductors and ground

151. We connect the fuse in –
(A) Phase line (B) Neutral line
(C) Earth line (D) None

152. Incandescent Lamp filament is made by –
(A) Nichrome wire (B) Tungsten wire
(C) Fuse wire (D) Copper wire

153. Which lamp is used in the outdoor illumination of buildings and airport runway?
(A) Halogen lamp (B) Gaseous discharge lamp
(C) Sodium vapour lamp (D) All of the above

154. Basic building blocks of digital multimeter are _______
(A) Oscillator, Amplifier (B) Diode, Amplifier
(C) Rectifier, Schmitt Trigger (D) A/D, Attenuator, Counter

155. On what factor does the operating speed of the relay depend upon?
(A) Rate of flux built up (B) Armature core air gap
(C) Spring tension (D) All of the above

156. A simple enclosed length of wire that has a low melting point is known as
(A) Resistor (B) Fuse
(C) Circuit breaker (D) Thermistor
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157. Which has negative temperature coefficient resistance?
(A) Copper (B) Aluminum
(C) Iron (D) Carbon

158. Megger is a _______
(A) Source of e.m.f (B) Source to measure high resistance
(C) Type of a null detector (D) Current carrier

159. In case of fire –
(A) Throw water on the live wire
(B) Use dry sand
(C) Use any fire extinguisher
(D) Disconnect the electrical supply immediately

160. According to the Ohm’s law -
(A) I = VR (B) V = IR
(C) R = VI (D) None of the above

161. What is the meaning of the term ‘Processing’?
(A) Feeding the information.
(B) Taking a printout from a printer
(C) Converting raw data into the desired information.
(D) Typing in keyboard

162. How many parts are there in a computer for information processing cycle?
(A) Only one part (B) Two parts
(C) Three Parts (D) Four Parts

163. What is the common measurement of unit of a computer memory?
(A) IQ (B) Byte
(C) Terabyte (D) Gigabyte

164. Anti-lock brakes in cars, navigation systems, smart home appliances, home security systems,
cell phones and smart phones are example of
(A) Computer system (B) Control system
(C) Embedded system (D) Dynamic system

165. Computers process data under control of sets of instructions termed as
(A) Computer programs (B) Computer data
(C) Computer buses (D) Computer instructions

166. (1217)8 is equivalent to
(A) (1217)16 (B) (028F)16

(C) (2297)10 (D) (0B17)16

167. Which register is used as working area in CPU?
(A) Program counter (B) Accumulator
(C) Stack pointer (D) Instruction register

168. Microprocessor unit or central processor unit consist of
(A) Control circuitry (B) ALU
(C) Memory (D) All of the above
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169. A floating point number that has a ‘0’ in MSB of mantissa is said to have _______
(A) Overflow (B) Underflow
(C) Normalization (D) Positive exponent

170. The memory that is programmed at the time of manufacture is
(A) RAM (B) PROM
(C) ROM (D) EEPROM

171. How many times the following code be executed?
{
x = 10;
While(x = 1)
x++;
}
(A) Never (B) Once
(C) 15 times (D) Infinite number of times

172. Minimum number of temporary variables needed to swap two variables is:
(A) 1 (B) 2
(C) 3 (D) 0

173. Stack is useful for implementing _______
(A) Radix sort (B) Recursion
(C) Quick sort (D) Breadth first search

174. Which of the following is a Scalar Data type?
(A) Float (B) Union
(C) Array (D) Linked list

175. Which of the following is a keyword used for a storage class?
(A) printf (B) external
(C) auto (D) scanf

176. Which of the following data structures is non-linear type?
(A) Queue (B) Lists
(C) String (D) Graph

177. The best data structure to check whether an arithmetic expression has balanced parentheses is
(A) Queue (B) Stack
(C) Tree (D) List

178. The queue data structure is to be realized by using stack. The number of stacks needed would
be
(A) 2 stacks (B) 4 stacks
(C) 1 stack (D) It cannot be implemented.

179. The _______ symbol is used to represent decision in flowchart.
(A) Circle (B) Rectangle
(C) Diamond (D) None of the above

180. Which of the following is not hardware?
(A) Network Switch (B) Cisco Router
(C) Firewall (D) Virtual Router
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181. “Management is the art of getting work done by others”. The statement belongs to
(A) Harold Koontz (B) Stainlay Vense
(C) Peter F Durber (D) None of the above

182. Management is concerned with
(A) Administrative Functions (B) Executive Functions
(C) Both (A) and (B) above (D) None of the above

183. A company is facing a problem of declining market share due to increased competition from
other players in the market. It competitors are introducing lower price models for mass consumers
who are price sensitive. For quality conscious consumers, company is introducing new models
with added features and technological advancements. The type of plan needed to prepare under
such situation is called :
(A) Strategy (B) Policy
(C) Objective (D) None of the above

184. Principle of management which implies that there should be “One Head and One Plan” for a
group of activities having the same objectives is :
(A) Unity of Direction (B) Authority and Responsibility
(C) Unity of Command (D) None of the above

185. Which statement is not true for Deontological Ethics ?
(A) Obligations, responsibilities and commitments determine the correct approach to ethics.
(B) While we are committed to the dignity and well being of individuals, an individual may have

to sacrifice his or her rights in order to generate a net increase in the collective good.
(C) Certain acts are wrong and should not be performed, regardless of the overall happiness

they may produce
(D) None of the above

186. _______ is the ratio of specification range and process capability.
(A) Potential capability (B) Process Efficiency
(C) Potential Growth (D) None of the above

187. The performance of an acceptance sampling plan could be judged by developing on _______
curve for the plan
(A) Operating efficiency (B) Operating characteristic
(C) Process characteristics (D) None of the above

188. Fishbone diagram are also called as :
(A) Practo diagram (B) Cause and effect diagram
(C) Poka yoke (D) None of the above

189. Administrative costs, insurance costs, cost of obsolescence come under
(A) Storage cost (B) Cost of ordering
(C) Inventory carrying cost (D) None of the above

190. The safety stock investment in ‘P’ System is _______ then that of the ‘Q’ System. (Inventory
control system)
(A) More (B) Less
(C) No Relation (D) None of the above

191. Classification of items based on criticality of items is called
(A) ABC (B) XYZ
(C) VED (D) None of the above
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192. When a customer stands in the queue for sometime and then leaves the system because it is
working ‘too slowly’ is called :
(A) Reneging (B) Bribing
(C) Jockeying (D) None of the above

193. The ratio of arrival rate to service rate is called :
(A) Average Utilization (B) Traffic Intensity
(C) Clearing Ratio (D) All of the above

194. _______ of an activity represents the amount of time by which it can be delayed without delaying
the project completion date.
(A) Independent float (B) Total float
(C) Free float (D) None of the above

195. _______ is the shortest time the activity can take to complete.
(A) Optimistic Time (B) Pessimistic Time
(C) Most Likely Time (D) None of the above

196. _______ supply chain pertains mainly to providing raw materials and components to an
organisation.
(A) In house (B) Out bound
(C) Inbound (D) None of the above

197. For modifying supply which of the following is capacity adjustment alternative
(A) De-bottleneck (B) Back order
(C) Hire / Lay off workers (D) None of the above

198. This scheduling rule simply chooses the job with the least processing time from the competing
list and schedules it ahead of the others.
(A) SPT (B) LPT
(C) EDD (D) None of the above

199. I.L.O. was established in the year.
(A) 1917 (B) 1918
(C) 1924 (D) None of the above

200. What is the full form of AITUF ?
(A) All International Trade Union Federation
(B) All India Trade Union Forum
(C) All India Trade Union Federation
(D) None of the above

201. Section 2(g) under factories Act 1948 defines _______
(A) Factory (B) Manufacturing process
(C) Worker (D) None of the above

202. International Labour Organization received Nobel Peace Prize in
(A) 1965 (B) 1969
(C) 1966 (D) None of the above

203. The actual achievements compared with the objectives of the job is
(A) Job performance (B) Job evaluation
(C) Job description (D) None of the above
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204. The following is (are) concerned with developing a pool of candidates in line with the human
resource plans.
(A) Selection (B) Recruitment
(C) Both (A) and (B) (D) None of the above

205. In a matching model of HRM what is meant by cost driven HRM ?
(A) Where a strategic planning process does not exist, but people are viewed as a resource
(B) Where a strategic planning process exist, but people are viewed as cost
(C) Where a strategic planning process does not exist, and people are viewed as a cost
(D) None of the above

206. Suresh spends most of his time at work for his staff of 50 employees and developing procedures
for various tasks. In which function of the management process does Suresh spend most of his
time ?
(A) Leading (B) Controlling
(C) Organizing (D) None of the above

207. The residual theory of dividends suggests that dividends are _______ to the value of the firm
(A) Residual (B) Relevant
(C) Irrelevant (D) None of the above

208. The clientele effect refers to
(A) The relevance of dividend policy on share value
(B) The firms ability to attract stockholders whose dividend preferences are similar to the firms

dividend policy
(C) The bird-in-hand-argument
(D) None of the above

209. Modigliani and Miller, recognizing that dividends do somehow affect stock prices, suggest that
positive effects of dividend increases are attributable
(A) Not to the dividend itself but to the informational content of the dividends with respect to

future earnings.
(B) Directly to the dividend policy
(C) Directly to the optimal capital structure
(D) None of the above

210. The purpose of a stock split is to
(A) Affect the firms capital structure (B) Decrease the dividend
(C) Increase the market price of the stock (D) None of the above

211. Which type of dividend payment policy has the advantage that if the firms earnings drop,
dividends will still be maintained at a relatively constant level ?
(A) Constant-payout-ratio policy (B) Regular dividend policy
(C) Low-regular-and-extra-dividend policy (D) None of the above

212. XYZ is an oil based business company which does not have adequate working capital. It fails to
meet its current obligation, which leads to bankruptcy. Identify the type of investment decision
involved to prevent risk of bankruptcy.
(A) Investment decision (B) Financing decision
(C) Legal Decision (D) None of the above
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213. The estimated benefits from a project are expressed as cash flows instead of income flows because.
(A) It is simpler to calculate cash flows than income flows.
(B) It is cash, not accounting income, that is central to the firms capital budgeting decision
(C) This is required as per Income Tax Act
(D) None of the above

214. A profitability index 0.85 for a project means that
(A) The present value of benefits is 85% greater than the projects costs
(B) The projects NPV is greater than zero
(C) The project returns 85 paisa in present value for each current Rupee invested
(D) None of the above

215. The discount rate at which 02 projects have identical _______ is referred to as Fisher's rate of
intersection.
(A) Present values (B) Net present values
(C) IRRs (D) None of the above

216. Which of the following would be consistent with a more aggressive approach to financing working
capital ?
(A) Financing short term needs with short term funds
(B) Financing some long term needs with short term funds
(C) Financing seasonal needs with short term funds
(D) None of the above

217. Which asset-liability combination would most likely result in the firms having the greatest risk
of technical insolvency ?
(A) Increasing current assets while lowering current liabilities
(B) Increasing current assets while incurring more current liabilities
(C) Reducing current assets, increasing current liabilities and reducing long term debt
(D) None of the above

218. Which of the following relationship hold true for safety stocks ?
(A) The higher the profit margin per unit, the higher the safety stock necessary
(B) The larger the opportunity cost of the funds invested in inventory the larger the safety stock
(C) The greater the risk of running out of stock, the smaller the safety stock
(D) None of the above

219. The traditional approach towards the valuation of a company assumes
(A) Markets are perfect
(B) That there is an optimum capital structure
(C) The total risk is not altered by changes in the capital structure
(D) None of the above

220. A project may be regarded as high risk project when ?
(A) It has smaller variance of outcome but a high initial investment
(B) It has a larger variance of outcome and high initial investment
(C) It has smaller variance of outcome and a low initial investment
(D) None of the above

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



ALC - A ] 25 P.T.O.

221. Which of the following statement is true for both monopolistically, competitive and oligopolistic
industries ?
(A) It is impossible for new firms to enter the industries
(B) Collusion and the creation of cartels is common
(C) Products cannot benefit from knowing other firms plans
(D) None of the above

222. Which of the following best describes an oligopoly ?
(A) Many monopolistically competitive firms
(B) A few firms sharing monopoly power
(C) A former monopoly that has been broken by the government
(D) None of the above

223. Collusion most frequently occurs in industries that are :
(A) Oligopolistic (B) Monopolistically competitive
(C) Monopolistic (D) None of the above

224. If a few firms share most of an entire industry's revenues, the market structure in most likely :
(A) Monopolistically competitive (B) an oligopoly
(C) Perfectly competitive (D) None of the above

225. Which of the following could be considered a government created barriers to market entry ?
(A) Discretionary spending (B) Antitrust legislation
(C) Patents and Copyrights (D) None of the above

226. A patent is given to a firm to protect that firm's
(A) Monopoly power over a new process or product
(B) Research and development investment
(C) Ability to profit from its discoveries
(D) All of the above

227. _______ is the most commonly used to measure the money supply and also known as aggregate
monetory resources
(A) M1 (B) M2

(C) M3 (D) None of the above
228. Which of the following is added to National Income while calculating personal income ?

(A) Transfer payments to individuals (B) Social security contributions
(C) Corporate taxes (D) None of the above

229. Which of the following method(s) is/are used to calculate National Income in India ?
(A) Production method (B) Expenditive method
(C) Income method (D) All of the above

230. Which of the following is not a subsidiary of RBI ?
(A) SIDBI (B) National Housing Bank
(C) NABARD (D) None of the above

231. Which of the following is a qualitative tool of monetary policy ?
(A) Bank rate (B) Credit rationing
(C) CRR (D) None of the above
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232. Which among the following is not a pillar of Basel III ?
(A) Minimum capital standards (B) Market discipline
(C) Consolidation of assets (D) None of the above

233. If we compare GDP and GNP then -
(A) GNP = GDP – Net income from abroad (B) GNP = GDP + Net income from abroad
(C) GNP = NNP – Net income from abroad (D) None of the above

234. Temporary tax levied to obtain additional revenue is called :
(A) Rate (B) Cess
(C) Surcharge (D) None of the above

235. With reference to the deficit financing monetized deficit is the part that is financed through
(A) Borrowing from public sector commercial banks
(B) External commercial borrowings
(C) Borrowing from RBI
(D) None of the above

236. Interim budget is also known as :
(A) Mini budget (B) Vote on account
(C) Both (A) and (B) above (D) None of the above

237. In Union budget 2019-20 the target set by government to distribute LPG connections under the
Ujjawala Yojna is
(A) 6 Cr. (B) 8 Cr.
(C) 10 Cr. (D) None of the above

238. What is the target (in terms of GDP) of fiscal deficit for FY 2019-20 ?
(A) 3.1% (B) 3.5%
(C) 3.8% (D) None of the above

239. Fund allocation for Pradhan Mantri Gram Sadak Yojana in Union budget 2019 is
(A) 14,000 Cr. (B) 19,000 Cr.
(C) 25,000 Cr. (D) None of the above

240. As per Union budget 2019 direct tax revenue increased by over how much % in the past 5 years.
(A) 43% (B) 65%
(C) 78% (D) None of the above

241. As per Union budget 2019 an amount of Rs. 6000 per annum for farmers with less than _______
hectares land is paid under Pradhan Mantri Kisan Samman Nidhi.
(A) 2 (B) 3
(C) 4 (D) None of the above

242. How much amount has been earmarked in budget 2019-20 for creating world class educational
institutions ?
(A) 250 Cr. (B) 400 Cr.
(C) 600 Cr. (D) None of the above

243. As per budget 2019-20 the government has proposed to infuse _______ capital into public sector
banks
(A) Rs. 70,000 Crore (B) Rs. 80,000 Crore
(C) Rs. 90,000 Crore (D) None of the above
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244. As per interim budget 2019-20 India is today the _______ largest economy in the world
(A) 11th (B) 10th

(C) 9th (D) None of the above
245. The total outlay for Rashtriya Gokul mission is increased to Rs.

(A) 750 Cr. (B) 850 Cr.
(C) 1000 Cr. (D) None of the above

246. Mr. Piyus Goyal presented the interim budget for the year 2019. It is the _______ interim budget
of the country
(A) 15th (B) 16th

(C) 17th (D) None of the above
247. The balance of payment of a country on current account is equal to

(A) Balance of trade plus short term receipts
(B) Balance of trade plus net invisible exports
(C) Balance of payment – Capital flows
(D) None of the above

248. NAFTA is an example of
(A) Common market (B) Customers Union
(C) Economic Community (D) None of the above

249. _______ was replaced by _______ on 1st January, 1995
(A) GATS, WTO (B) WTO, GATT
(C) GATT, WTO (D) None of the above

250. _______ company produces, markets, invests and operates across the world
(A) Global (B) International
(C) Transnational (D) None of the above

251. Special Drawing Rights (SDR) is a facility available at
(A) IBRD (B) IMF
(C) IDA (D) None of the above

252. Which Indian city has been chosen by the world bank for setting up its back office operations ?
(A) Banglore (B) Chennai
(C) Kolkata (D) None of the above

253. Which institution is known as soft loan window of the world bank ?
(A) IFC (B) IDA
(C) Both (A) and (B) above (D) None of the above

254. Under the _______ both internal and external corporate governance mechanisms are intended
to induce managerial actions that maximise profit and shareholder value.
(A) Shareholder theory (B) Agency theory
(C) Corporate governance theory (D) None of the above

255. Which corporate governance model proposes dual board structure with representation from
financial institutions ?
(A) Anglo-saxon model (B) German model
(C) Japanese model (D) None of the above
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256. Which board committee is responsible to appraise director's performance annually ?
(A) Audit committee
(B) Nomination and Remuneration committee
(C) Corporate social responsibility committee
(D) None of the above

257. In order to ensure the representation of minority shareholders in the company which
revolutionary step has been undertaken in the companies Act 2013.
(A) Resident directorship (B) Small shareholder directorship
(C) Minority directorship (D) None of the above

258. The following is/are the key components of a business process Re-engineering programmes.
(A) Product development (B) Service delivery
(C) Customer satisfaction (D) All of the above

259. The actual achievements compared with the objectives of the job is -
(A) Job performance (B) Job evaluation
(C) Job description (D) None of the above

260. In an organization initiating career planning, the career path model would essentially form the
basis for.
(A) Placement (B) Transfer
(C) Rotation (D) All of the above

261. _______ suggested the new concept which takes into account various key factors that will tell
the overall performance of a job.
(A) Elliott Jaques (B) Fred Luthans
(C) Juran (D) None of the above

262. “Morale is a readiness to co-operate warmly in the task and purposes of a given group or
organization”. This statement was given by.
(A) Alldrich (B) Viteles
(C) Ackoof (D) None of the above

263. Which one is the factor of job satisfaction as per Hertzberg ?
(A) Job security (B) Recognition
(C) Relation with subordinates (D) All of the above

264. Job analysis is a systematic procedure for securing and reporting information defining a
(A) Specific rate (B) Specific job
(C) Specific processes (D) None of the above

265. T-group is a
(A) Executive development method (B) Planning tool
(C) Controlling tool (D) None of the above

266. The concept of Human Relations was developed by
(A) Robert Owen (B) V. V. Giri
(C) Elton Mayo (D) None of the above

267. Features of workforce like age, gender, marital status or societal group is
(A) Diversity (B) Workforce traits
(C) Demographics (D) None of the above
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268. Actions that result in candidates coming to identify of a chance of their own are
(A) Fun activities (B) Power activities
(C) Pull activities (D) None of the above

269. Which of the following techniques of performance appraisal is least susceptible to personal
bias ?
(A) 360 degree appraisal system (B) Forced choice method
(C) Ranking method (D) None of the above

270. Effective supervision is an activity of
(A) Organization function (B) Staffing function
(C) Directing function (D) None of the above

271. Phrase procurement stands for
(A) Recruitment and selection (B) Training and development
(C) Pay and benefits (D) None of the above

272. Joe a manager, delegates the authority for a project to be his subordinate. Joe is most likely
involved in which function of management process.
(A) Staffing (B) Organizing
(C) Leading (D) None of the above

273. Which of the following statement relating to startup scheme of Govt. of India is false ?
(A) The entity should be a Pvt. Ltd. Co. or Registered partnership firm or Limited liability

partnership
(B) Up to 5 years from the date of its incorporation / registration
(C) Turnover should not exceed Rs. 25 Cr. in any of the financial years
(D) None of the above

274. Multiplier Grant Scheme of Department of Electronics and Information Technology of Govt. of
India is extended up to
(A) 31 March 2020 (B) 31 March 2021
(C) 31 March 2022 (D) None of the above

275. Venture capital assistance is financial support in the form of an _______ loan provided by small
farmer's Agri-Business consortium (SFAC)
(A) Interest free (B) 1% Interest
(C) 1.5% Interest (D) None of the above

276. NSIC registers Micro & Small Enterprise under single point registration scheme for
(A) Availing bank loan (B) Availing govt. subsidies
(C) Participation in government purchases (D) None of the above

277. The first factories Act was passed in
(A) 1890 (B) 1891
(C) 1881 (D) None of the above

278. To avoid overcrowding in factories _______ m3 of space per worker is required.
(A) 14.1 (B) 14.2
(C) 14.3 (D) None of the above

279. There should be a provision for canteen in a factory employing more than _______ workers.
(A) 150 (B) 200
(C) 250 (D) None of the above
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280. The objectives of Industrial disputes Act is/are
(A) to secure industrial peace (B) To ameliorate the conditions of workers
(C) Both (A) and (B) above (D) None of the above

281. Which of the following is not adjudication machinery ?
(A) Court of Inquiry (B) National tribunals
(C) Industrial Tribunals (D) None of the above

282. A woman can avail maternity benefit for a maximum period of _______ weeks.
(A) 8 (B) 10
(C) 12 (D) None of the above

283. Which act is not related to social security ?
(A) Payment of Gratuity Act 1972 (B) Workmen's compensation Act 1923
(C) Maternity benefit Act 1961 (D) None of the above

284. Which benefit does not come under ESI Act ?
(A) Sickness (B) Disablement
(C) Annual leave (D) None of the above

285. Extramural Research funding scheme of science and Engineering Research board under Ministry
of Science and Technology is available to
(A) Academic institution
(B) Company with a turnover of more than 500 Cr.
(C) Both (A) and (B) above
(D) None of the above

286. Student Startup and Innovation Policy was launched by Govt. of Gujarat in _______.
(A) 2016 (B) 2017
(C) 2018 (D) None of the above

287. According to Govt. of Gujarat electronics & IT / ITeS startup policy eligible incubators are
entitled to a mentoring assistance of Rs. _______ per annum.
(A) 6 Lakhs (B) 7 Lakhs
(C) 8 Lakhs (D) None of the above

288. Khadi and village industries commission is a statutory organization under the ageis of
(A) Ministry of MSME, Govt. of India (B) Ministry of Rural development, Govt. of India
(C) Ministry of Textiles, Govt. of India (D) None of the above

289. Process cum Product Development Center, under the ageis of Ministry of MSME, Govt. of India
is located at
(A) Kannauj (B) Firozabad
(C) Meerut (D) None of the above

290. Which of the following is not a soft intervention as per Scheme of Fund for Regeneration of
Traditional Industries (SFURTI) ?
(A) Exposure visits (B) Market Promotion Incentives
(C) Training center (D) None of the above
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291. A scheme for promotion of innovation, Rural Industries and Entrepreneurship-II (ASPIRE-II)
has been renamed as _______ vide GoI letter dated 06/12/2017.
(A) A Scheme for Promotion of Innovation, Rural Industries and Entrepreneurship (ASPIRE)
(B) A Scheme for Propagation of Innovation, Rural Industries and Entrepreneurship (ASPIRE)
(C) A Scheme for Promotion of Incubation, Rural Industries and Entrepreneurship (ASPIRE)
(D) None of the above

292. Gujarat Institute of Development Research was established in _______ and is recognised and
supported by _______.
(A) 1980, ICSSR, New Delhi (B) 1970, UGC, New Delhi
(C) 1970, ICSSR, New Delhi (D) None of the above

293. Under the Tarun category of Pradhan Mantri Mudra Yojana the maximum limit of loan is
(A) Rs. 5 Lakhs (B) Rs. 10 Lakhs
(C) Rs. 15 Lakhs (D) None of the above

294. Under the SIDBI Make in India soft loan fund for Micro Small and Medium Enterprise (SMILE)
the maximum repayment period is 10 years including moratorium of upto _______ months.
(A) 12 (B) 24
(C) 36 (D) None of the above

295. SIDBI is implementing poorest state inclusive growth (PSIG) programme with the support of
(A) IMF (B) ADB
(C) DFID, UK (D) None of the above

296. Who among the following was appointed as Chairman and Managing Director of SIDBI in
August 2017 ?
(A) Shri Manoj Mittal (B) Shri Ram Mohan Mishra
(C) Shri Pankaj Jain (D) None of the above

297. The chalk industry cluster in the state of Gujarat is situated at
(A) Porbandar (B) Surat
(C) Rajkot (D) None of the above

298. Which of the following product categories have been identified for coverage under the ECO
mark scheme of BIS ?
(A) Soaps and Detergents (B) Paper
(C) Plastics (D) All of the above

299. For product certification BIS charges application fees, renewal application fees and annual
licence fee of Rs. _______ each and the visit charges are Rs. _______ per manday.
(A) Rs. 2,000/-, Rs. 8,000/- (B) Rs. 3,000/-, Rs. 9,000/-
(C) Rs. 4,000/-, Rs. 10,000/- (D) None of the above

300. Jyoti Gramodyog Vikas Yojana is a scheme of
(A) Govt. of Gujarat (B) Govt. of M. P.
(C) Govt. of India (D) None of the above
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